daga Cilagat
Ve (£0) Glaie¥) Al S Al s -
Asdia (YA) glaied) dul S Ciladia aae -
(il gise g8 (platial) A S Ciladia de (e g AL a5 e ST -
(e lu EDE) LAY (g -
Aa o (V) DhaadU 4l s il -
s Agling lagladl) 038 T8, i) (g 30
ALY e canl W 8 ALY Aadia o el Al S dadia b6l gas 12 el ]
Ala) 8 e ad) U8 s 4 S8y ) sl 18
J) 3 JS (o Jad Ban) g didy LY ugllaall g ¢ Zliadd da e ALY
AL e alasiad aae g ocile gyl 3 byl ARl 5 ¢ AU (55 Y1 Calall Al aaai
dalidd dalall Al a5 LD daadia) dal ) 8 canl eddlial Al U elila) xie
Go SSLelila) o 5 ¢ Ll 3 GY) pa 83 gusall e 8 sy JLSE ) (S g A
Ly g Als)
rJGa

. L (B) sl (A) o cenl Ay a3 lad) Al e clils) ve
T g () e e JLEAY) Al ge dlila) aie

) s JST IS S Gl BlaY) e JIAN el s ial Jlks
e (C) dagaeall Likay) 1 e

: dagasal) 4aY)

s LAY Gt dagaia dla) Cual g Gl cud o bl Aula) ual 1Y L dlls 8-
Lot ALY Gt Uad s Gl g el cadd ¢ A s Gl 1Y Lo s -
: A sale
Al gl 3ay e S Ao Sl a5 1Y) (ddaia (a JLEAY) Ae gida pall ALiaY) Al
Ui oY) utind ¢ aY) LSS
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All chemical equations you give should | a_ale. st O¥alasd! e cSI
be balan.ced including the conditions of S LT o el ATl 23 e
the reaction. ' )
Answer the following questions: | PAGY ALY oo o

1- Choose to answer (a) or (b). :(20) 9l (1) e ol S -
Write down the scientific concept that is expressed | :5)Lal e JIA0 Lelal! llamal| S
by the statement: | peldf iusdals Olecos aces Alec (1)

(a) The process in which the fine particles of | Auiloiby AlLaTe S| alouni B
the iron ore are collected in larger size to | )
be similar and homogeneous.

(b) Coating iron with a zinc layer to protect it |
from rusting. ‘

Ot (o daday it ddadi (o)
Jaall fpe dialesd

2- Choose to answer (a) or (b). . 1(2) 91 (1) e dala ¥ i =Y

Mention the importance of: _ s dtadi 4SS

(a) Chemical analysis in the agricultural field. | aa1,591 Jlowe 3 LSleaustt Jditt (1)

(b) Indicators in the process of titration. ' 3 polaadl Aulas o8 A3¥1 ()
1
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3- Choose to answer (a) or (b).

Write down the total chemical equation for:

(a) Formation of iron rust.

(b) Charging reaction of the lead acid battery.

4- Choose the correct answer:

The amount of electricity required to
precipitate 2 mole of silver from the solution
of one of its salts is:

@) 96500 Coulomb.
(b 48250 Coulomb.
(© 96500 Faraday.
(@ 48250 Faraday.

5- Give reason for:
Chromium resists corrosion in spite of its
chemical reactivity.

1(2) 91 (1) (e Aala N1 i -Y

2 A A0 eI A slaal| LIS
-t s (e asY (1)

ooyl Bt B it oLt ()

dunald

¢ Avuiall Ayl M i - §

Jge % ot it Ae)OAN A pgSI! deS
1o g Mal il J glowo (po Winall (o

astssatees (1)

A9 eS EAYO: @

(gl Ao @

.glala EAYe: @

b Let Jle -0
eI abolin @d y JSTUY pglae pg ST
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6- On adding diluted hydrochloric acid to one | ¢l ;siS g gt  (ae>  Zald!  wic =%
of sodium salts, a gas evolves that has a pga3guall 5ol (po gba 1| Cadsuoll

very irritating smell, accompanied by the| /. 5 53053 Ay 4T 52 e luaty
appearance of a yellow ppt. suspended in

the solution. e ) | =
sl 1Ol daal! o
Write down the chemical formula of the |~ & el uilees =53
Jelad i Aalee

salt and the equation of the reaction.

wwyjailledg o



7- Show by a practical experiment the effect of | 8,3 a3 Al ddae & iy sy -V
the concentration of reactants on a reaction o ke Jelad Llo Alelitiell 3lgelt
at equilibrium. Write down the equation of Je Lt Alslae duliS
the reaction.
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8- The products of the reaction between ethyl | JLeud! Jemstt Jolas zilgr a8gi5 -A
alcohol and concentrated sulphuric acid | ax y3 Lie 38 pod Elis oI e )
depends on the temperature of the reaction.

O¥alaally EUD mdg Jeladl 3l
Show this by chemical equations.

9- Show by chemical equations how to obtain | Juass oS adleasI S¥alaatly ming -4
acetamide from acetic acid. LY e (pe dwaliw ¥ e




10- Choose to answer (a) or (b). 1(2) 91 (1) (o Al M1 s -\

Write down the scientific concept that isI 13yl e JIAM elall allaiaed| LIS

expressed by the statement: |01 i A1 ZBLAT (pe Aa¥T asti (1)

(a) The minimum amount of kinetic energy | .y i yie Jelin st s jodl LeSiie,
possessed by the molecule to react on| T e
collision.

(b) A dynamic system that takes place in
reversible reactions when the rate of the
forward reaction equals the rate of the| grusall
backward reaction.

OMe Lo ‘;5 S (;S:Ln\.’«.:m i:Ué.B (u)
[Juaes  olwdo  lete  AulSandl
[ Jelad! Juse o ‘__.5‘.\)]4.“ Jelaidi

11- Choose the correct answer: | Aovoual) Al W) o -\ )
Which of the following substances can be |lgelasiul S I sigelt (gl
used to reduce the effect of the irritating smell | 418 jlar sataus assi 3 a1 goan

|

of hydrogen chloride gas? Sy 9 yiegl |

@ so, | so, (D

(b  NH;j NH; ©

© co, co, @

@ HS | Hs @
6
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12- Give reason for: tdle -\ Y
Phenolphthalein indicator is not used to| ;. o8 Ot lial gial! by poin ¥
distinguish between acidic and neutral| slaiellg T olond! L lomad Sy
solutions.

13- Mention one function of the salt bridge in | ewlel! 5 aiall susly dadsy oS! -\ ¥

the galvanic cell. aolalad | adsy) L3

14- Write down the relation that expresses the | cols (je  pad 31 a8Mal CoSI-0 ¢
equilibrium constant (K¢) for the reaction | 418 Jgtos Jelat ( K ) i35
. . . - c
bF:tweer} sodium .chlorlde solution and | 5 . ayi o 5 gt e
silver nitrate solution.

wwyjailledg o



15- Choose the correct answer:

Which of the following graphs represents
the relationship between the mass of the
precipitated or evolved substance at the
cathode (M) and the amount of electricity (Q)

in an electrolytic solution?

A A A

M M M

e

s Avoval) sl W o -\ 0

Opo ABdMall ey AL JISEY g
e duelaial! ol dow yiet! Baledt ALS
o? (Q) 2oyt duaSy (M) 2g51sT!
§ il g 5T Jgln

A

M

Y
Y

Y
Y

® ®

16- Choose to answer (a) or (b).

Show by chemical equations:

(a) The effect of a mixture of concentrated
nitric and sulphuric acids on benzene,
and then the reaction of the product with
chlorine in the presence of iron.

(b) The reaction of benzene with methyl
chloride, and then the reaction of the product
with chlorine in the presence of iron.

© @

£(2) 31 (1) (oo Rala ¥ s -1

1 A0S O¥alaal by mdg

Clydd! paes (po dads b ()
@ (Ol e (338 pedt Lo T
392 g B 5aISH pe L Jelas

Jelad @8 (Jied! ayglS ae (g 3l Joldi (o)
.Aew‘akjgﬁjgm‘&n@\iﬂ
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17- Show by a chemical equation the| peasi 2dlesS Wolasy gy -V
preparation of methyl salicylate. e Szt
Then, mention the functional groups found | _s .1 2 Acads 931 Sile gammall 83003
in this compound.

c_v"l.dt

18- Complete the diagram below by writing | el A4Sy L1 datadnall JaSi -1A

the chemical formulae of the proper » Atwlial) OLS poll A6 Lo
compounds:
Reaction with
steam+theat
25w e Jelat
Reduction | g1y O Lt ¢ Latt
by carbon | “wsiJsl
monoxide | e o525
at400 - | Aover -t
700°C
L Ot Al Conc
x1dation n
hot air HZSO&
> . - > ) + H20
&2 5uwSi )s %) A
PSR ]
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19- Choose to answer (a) or (b) () 9l (1) (s Al i -1 4

Write down the scientific term that is| .3 Hlatt ple JIdh elall alladet| CIS)

expressed by the statement: | pe dinbes 3 pad Matl Adaii ddec (1)

(a) The process of coating the metal to be | oL Ao 81,51 sy fual!
protected from rusting by another metal of |
less chemical reactivity.

(b) Systems in which the chemical energy is |
converted into electrical energy th1rough'«"-‘é et i
a spontaneous irreversible oxidation- | aifal

Wt Lgsd  lgd o Aelasi (o)
IS (pe dygS BBl ) Ableast
g suusS) Jelas

reduction reaction.

20- Choose to answer (a) or (b). . (@) 91 (1) e Al W1 3 =Y
Show by chemical equations: . 1 A0 LS O¥alaatly ay
(a) The reaction of hot concentrated sulphuric | (bad! 38 medt Gl oS3 e (e lai(i)
acid with hydrogen iodide gas. | O 9ol g2 HLE s
(b) The reaction of hydrochloric acid with [ae <liyslSg gt paes Jelas (o)
sodium sulphide. Ao guall (Ll 48

10
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21- Choose to answer (a) or (b).

Show by chemical equations:

(a) Obtaining the reducing gas in the blast
furnace.

(b) Obtaining the reducing gas in Midrex
furnace.

() 91 (1) 5o Al WY s - Y

A0 LeauSH O¥ s laal Ly il g

Oral B Jiedl Hlal e Jguastt (1)
.‘_,me

022 G2 I3t HI e Jguastt ()
S He

22- Choose the correct answer:
If 30 milliliter of sulphuric acid solution
of concentration 0.2 Molar is neutralized
with a given volume (V) of potassium
hydroxide solution of concentration
0.6 Molar, the value (V) equals:

20 milliliter.
30 milliliter.
50 milliliter.
60 milliliter.

®OeE

11

+ Asvual) Al W i Y Y
pass Jsloe o lde e Jalad B
(e e 28 (¥ g ¢, ¥ 058 T il S
pouwliod! wuSgjim Jalos (o (V)
19k (V) daed 018 (g5 ¥ g0 +,7 08 )3
e Y

e Y

e o

e e

QOO
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23- Give reason for: r e -YY
Transition elements are characterised by |c¥ls sasi adGEEY poliall e
having several oxidation states. MBS

24- An electric current is passed through an | (e ol s S3 Jglome 3 3 268 5L ol Y8
electrolytic solution of silver nitrate using | azat ;e 3951 alisiauls aaill of,m
a silver anode and an iron cathode. Show
the change that would happen to the mass
of the cathode, and explain the reason.

é‘f.\!‘ | @bﬁ BTN (V] é’leﬁ
e} g 3 g5ISIALS e play

12
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25- Show by chemical equations how to obtain | Juas=3 a8 adleasI I O¥ slactbimsg - Yo
picric acid from chlorobenzene. O 099910 (pe GLST Gaes e

26- Calculate the solubility product of silver | s ,8 pled LY Jol> ded Cows! -¥1
sulphide salt. Knowing that the degree| a ailigs asjs of coale 131 acaat
of its solubility in water at a certain| . P s 5y A3 e slalt
temperature equals 1.5%1073 mol/L. i 1.5%1073 mol/ L

13
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27- Show by equations how you can obtain | ole Juami oS O¥slaodls pidg -YV
the simplest aromatic hydrocarbon from | saui cpe Lilegyi GsuSesin daw

the simplest aliphatic hydrocarbon. | laigt ol

14
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28- Choose to answer (a) or (b). 1(2) 91 (1) e Aala W jd=3 - YA
Write down the scientific concept that is| :3Lal e Jiut Lelall pllamal! COS)
expressed by the statement: S paes Joldi e iyl g (1)
(a) A p.olye.:ster .produced.from.the reaction of | oS s LS 58 s Tguolal

a dibasic acid and a dihydric alcohol.

5adl yaid (po i odae S pe (o
(b) An organic compound formed by the Asall e o gy 9o S ()

. A Sl g A g
fermentation of starch and sugar. oSl desddd
29- Give reason for: 1l Lt Yo - Y4
Adding water to sulphuric acid does not affect | Juogi as s e slodl 23Ls| 55 ¥

the electrical conductivity of the acid. el S Ll ST e

15
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30- Choose the correct answer:
Dichloro diphenyl trichloro ethane is the
chemical name of :

@) PE
() PP
(© DDT
@ PvC

xza:t#ua" 2\,1\:,}“#-1“
| Ol 53918 AN Juiud LS 5918 AL
HELPON | g—‘t%&” p.uﬁ“}b

| PE (D)

PP ©
| DDT
| pvC (3

31- On adding barium chloride solution to |t! agasbd! cwayslS Jolme 4l wic -1
a salt solution, a white ppt. is formed|gym ¥ (anl couly osSi qele Jalos
which is insoluble in diluted hydrochloric | i L3 gl e 8

acid, and when adding ammonia solution |

oud Jolme I Lige¥! Jgloe dblis|

to the solution of the same salt, a reddish |

brown ppt. is formed. Write down the |

chemical formula of this salt.

el (g el 0950 bl
el 1Y A LT Adaal S

32- Write down the name of the following |alias cows I S palt @wl TSH -FY

compound according to [UPAC system:

uiﬂe‘;:i‘y‘
CHj
I

CHy—CH—CH,—C—OH

|
C,Hj

16
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33- Give reason for: e | PY R TP o ¢

Neutralization reactions are faster than ester | 5w cdelas (yo ¢ ol Jaland| &Me Lo
formation reactions.

34- Choose to answer (a) or (b). 1(2) 9l (1) s ol i -¥¢
Show by Chemical equations: A0 LS O¥ s laal by il g
(a) Adding iron filings to copper (II) Ol , 8 Jgloms ] et 1 531 0 aa L (1)

sulphate solution, then heating the
formed compound.

(b) Passing chlorine gas on hot iron, then
reacting the product with sodium
hydroxide.

LGS et Gl @3 (1) ulad
@ O3l wasdl e et 512 et (<)
P9 gl e g juid po il Jelas

17
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35- Four divalent elements A, B, C, and| D, C, B, A 35t 2,608 juolic Axyyi -0

D. whose reduction potentials are as
shown in the table below:

LI gty LeS gl 3t a g6

A B

C

D

-1.67V 0.8V

0.15V =) 8 V

First : Calculate the greatest electromotive
force of a cell that can be formed of
two of these elements.

Second : Write the diagram that represents
this cell.

A 3¢S Had s B8 ST Aaid o 1 W]
03555 Bals (3o Lesle Jsuamt! (1S

AT 006l o Maws ¥ je ) ST s LAl

36- The molecular formula C;HsO
represents a ketone.
First : Write down the structural formula
of this ketone.
Second : Write down the structural formula of
a polyhydroxy ketonic compound.

18

wjailleig o
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L OLgLS A

O 9uS 1agd 2L Kol | IS ¥ of

P FeS S ot AL Zaeal! CaST LA
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37- Choose to answer (a) or (b).

Write down the scientific concept that is

expressed by the statement:

(a) Chemical analysis used to estimate the
ratio of each component of the main
constituents of a substance.

(b) Determinig the concentration of a known
volume of an acidic solution by knowing
the volume and the concentration of the
basic solution that completely neutralizes it.

(@) 91 (1) (e Al W s -V

2 5yl e JId elal) mllawed ) oS!

B el B puiin el (1)
Balel! Al ¥ Gl gSat | (pe () 9Se S

o0 polas @ 1S5 el ddes (o)
Jalaio ! guelall Jolmall 348 59

38- How can you distinguish, without USINg | caciisS alusics! (g jied cauS- YA
reagents, between silver chloride and |zar ayjsts Lomte o wdiles

sodium chloride salts?

39- Choose the correct answer:
Which of the following ions is diamagnetic
and colourless?

Ti 47
Mn 2+
Fe 2+

V2+

®OeE

19

Spgaagumall iajalSy

1 Aovoual) Ayl N1 oind T4
ey undoliaelyly AJLS OLiga ¥ (&l
0 9kle

Ti+t (O

Mn?* @

Fg 254 C

Vi QO
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40- What happens after a while from dipping | i plw gudg e dria)s o day St fala - ¢ »
zinc rod into the blue copper II sulphate | %5 B3 I (uloitt Gl 18 Jolows (2 (puay )
solution?

41- Write down the eqution of the alkaline |guielat! alatt Jt=itt Atslae cISH - £
hydrolysis of ethyl benzoate. -t ¥ O g joed

20
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42- Give reason for: 1o Let Yle -8 Y
Lithium ion battery is used instead of the lead | A-s JuiS poedtt Ha-tl Agyliay pudiws

acid battery in some modern cars. i) Olybud ) paay (B Auaalad| golia
43- Choose to answer (a) or (b). () 91 (1) e Aol pdd -¢¥
Write down the chemical equations: + A0 Lea S OW alaedl LS
(a) The reaction of ammonium chloride | i o psige¥! wuyels Jelas (1)
and silver cyanate, and then heating the LY Tyl @ Rudal
product strongly. . L
: : 30908 LS Y ) Gle Juami as (9)
(b) How would you obtain 1,2 dibromo ethane k gt e i)
from ethyne? R

21
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44- Arrange the following substances RS VRPN B W% TN PER TR, | 3
ascendingly according to their degree s dpdaalod) A s
of acidity: — dligrn paes — Eliwl Gaes — Jgud

Phenol- Acetic acid - Benzoic acid - Ethanol el

45- Calculate the pOH value of a weak alkaline | gs18 Jstmed pOH aed cwn! -0

solution of concentration 0.2 Molar. ¥ 30 0.2 658 3 Cania
i  [K,=3.6+1074 : " o
Given that: [K,=3.6x107"] [K,=3.6x10 4 ob e
22
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